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18. See attached for graph.
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Simplify the following:
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Express each of the following in a + bi form.

12.(7+2)+(3-50)-(11- 3i) =
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Find fheTeal valdes of x and y.
X«QL = )<«gk
EEte LEDESD
9oy bYs) i =1
-~ =15 -
*=$ Y= 3 5)(.—“ -3 g =-5
Solve for x and put your answer in a + bi form.
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Simplify.

17. V2423 = LN/ | N3
“au7a_ -
=alfF/s = Bu/a

Graph and label the corresponding points on the complex plane.
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Complex numbers as solutions to equations Algebra 2 Unit 4 Day 4

Today, we are going o use the quadrafic formula fo solve quadratic equations.

—b* (Edac
2A

Recall the quadratic formula: x —

The di_scr'—ir_ni’ngr_lﬁsjhz number under the radical or_h>—Yac.

Working with your partner, determine the discriminant and then solve the following quadratic equations
using the quadratic formula. ax')——i—bx 4 =O

1. x)-9=0 -9 2.x5-6x+9=0 3. x%+9=0

b= ou/a)(-@ ba‘"m(r 4(')(4) biqac‘ O-HC‘X‘D

=0 +36=3
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x=opEe- todz X= ‘oag; e, X0 -3!. =2
X=3 or X== - b é’w al
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Using your graphing calculator, sketch a graph of each of the quadratic equations from above.

]x—B‘ 0 2. x5 - f:x+ =0 3. x*+9:=-0

— X
>

,«')thn the gmph intersects x-axis only once, then there is_Qne (€ d—l D {u“\hq .

and the discriminant is _2_€4 0

Whan the graph intersects x-axis twice, then there are ) A2 s lgﬂ'gm T .
bt

and the discriminant is < O

*yhan the graph do intersects x-axis, then there are jﬁ.lﬁ_d&kf)@(_m
and the dlscr'lmlnun‘r is ﬂe# a:h";e ' LO
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F{,- 1- 7.)\10 the following: Correct typo on #7: change 'factor' to 'divide'. -
1. Compute the value of the@iscriminanf»f the quadratic equation. _55“"

2. Use the value of the discriminant to predict the number and type of soluTions mﬂ”i‘{:dff
3. Find all real and complex solutions.
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Do first one together: -2 + ’___ ) + r’
@ x=2X{—q - 37«
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Work an the following individually, checking your answers with your partrner as you complete each one.
2. x*+4=0

b™lac= O-4(i)4) X= 0l
= =lb al)
2. Compley. GivHons TR

a
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OB ¥+2x+1=0

b Hoc= 4-4(0(')
A ray so\uhon

4, 3xC+4x+2=0

b-uac= |b-84(axa)
A (ompiex. QoS
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7. 8x®+4x + 32 = 0 (Note: Easier if you% first)
L'.
AX*+x +8=0 x=-1% \f-b)?
b>yac = |-4()E A
. = —(o3 ) -‘—”ltlﬁﬁ
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